LR 20FE £IM

ERFNRTIMR—ILEFIARR

B+ 1BEB 2B H 1B B
\
=11 % 64 N 4= 84 FIE A ;
A3 83 70 Ad
I8 37 K 22 65 =TI 8
61 83
A = — A
]
XX 51 Al =2 EEX 9
A2 B2
ICE2 N 108 64 wlEipN 10
B1 I, 43 B2
HnO
SGU = T BhHA 11
B3 57 105 B4
N /\
THEX 39 36 UNTTpN 12
BB B
5790
B K 92 116 mEA B
A5 B5 3
SGU I [E K 11
36 39 o |
TF 188 28 E 188
i BREKRE .
BIEK 29 = 65 = E1K 6
D2
c3 78 70
XHEA 20 = FIIK 7
64 58
C1 =
o 74 .
=XV N 57 THEX 8
Al B1 42 D1
A3
EEX = = A 9
C2 65 66 D3
J\ ]
NI N 97 56 WwIES N 10
B R
45
N 87 52 ,
=Xy N EEX B
o C5 =
IISE2/gN EFINX 7
57 56 |
A-Ba—Fh SHERAKEE
C:-Da—Fk SHKEFEILARTEE
F1HE F2HE E3HE FATE FE5HE
188 10:00 11:30 13:00 14:30 16:00
2HE 10:00 11:40 13:20 15:00




FR295EE 2HAEKFENATIYNR—IHAXRE BF

=SMERAETE
T = BF—L No AF—ALA =7 R
15 — 17 36 — | 7
16 — 27 24 | —
Al IR 37T K 52 |11 — 291 91 8- PN =4 B1 IEES N 10823 — | 10| 38 SGU
10 — 18 25 — | 13
12 — 11 16 — | 23
15 — 12 23 — 20
A2 =3P 65| 13 — 13| 54 EmEX 1 [E]E; ga¥ wIEp N 64 | 12 — 32105 EHXK
25  — 18 13 — 30
32 — 7 20 — | 23
31 — 4 19 — | 20
A3 FINIR 9|16 — 9 |31 XKL ZACIL4 B3 IZE N 74116 — 25/ 89 TEX
20 — 11 19 — 21
25 — 19 8 — 34
10 — 9 12 — 33
A4 EIEK 84 |27 — 15| 60 = EIK ZACIL4 B4 EhHX 43 |11 — | 38136 NN
22 | — 17 12 — 31
22 — | 6 37 — | 4
18 — 9 21 — | 17
A5 ERYAN 92|14 — 15| 36 SGU Eif B5 mEX 11628 | — | 12| 39 WESpN
38 — 6 30 — 6
26  — 19 18 — | 35
24 — 7 14 — | 27
A2 =Jlp.N 83|16 — 15| 57 TEX fﬁ% B2 ZIEK 70 | 11 — | 31105 NITTPN
17 — 16 27 — | 12
18 — 21
10 — 23 "
A4 FINX 61|13 — 24| 83 NI N 1’?’*& HEDR S RIS II R —H H
20  — 15

BAERHT —2: IR



FR29%EE LMEXZFENATY PER—-—IFMAXE XF

EAMARFILAETECER-RBISHNERAEE)
T =R BF—L No AF—Ls T R
24 — |11 18 — 13
16 — 14 25 — 12
Cl1 XK 90 | 38 — | 15| 52 IR 37 K El:4 D1 THRX 74114 — 13152 IEES N
12 — 12 17 — 14
9 — 22 11 —
11 — | 28 20 — 8
C2 mEX 54 | 8 — | 23] 92 NN G4 D2 (=5 31PN 65 |16 — 17 | 43 FINX
26 — 19 18 — 12
32 — | 7 9 — 15
31 — | 4 8 — 16
C3 FIEK 105{ 16 — 9 | 31 XK AL D3 TEX 41113 — 7 |66 UIES N
26 — |11 11 — 28
17 — | 16 6 — 7
17 — 8 12 — 16
C4 B3 K 87 |27 — | 13| 57 ISR & Ch mEX 52 | 16 — 12| 56 FNX
26 — 20 8 — 21
20 — | 15 16 — 24
18 — 19 " 13 — 21
Bl| B4&K 70020 — 11 66 wlESpN f:%io Al|  BEX 8121 — 8 |65| MUK
12 — 21 22 — 12
19 — 9
12 — 14 o YHEDR S, Ik " HH
A3 BIEK 64 | 15 — 21| 58 =% 31PN ﬁ:gﬁ
18 — | 14

L FEHT— b BIERY



ol
B
3 i

REFETF
FERE
BFEF
RRFHR
AR
BATH
KHE

5 +

mKF
FNIXE
A IEXE
BRKF

WILKEF

WKF
FENIKZE
A IEXE
BRXF

24

3
3
35
3

=B
B
3 fi

REFSEF
BEMI{B{E
B5EF
INKEE
LIRS
wixomny
JEETHIAN

X +

BIEA
mHIKE
NITE
P E K

BRXF

BRKF
= HKF
AP N2
uEKF

24

34
34
34
34




